LAB Week 4

MATH 130 Section 3

February 14, 2018: Happy Valentine’s Day!
Covering Sections 2.7 and 2.3 Your Name (Print): _ ANSWER KEN

1. What is the value of IerlJLZ (10 — 4.7:)? Use the e-§ definition of a limit to prove your assertion. (Refer to the outline on
T
the worksheet passed out in class on Friday. Remember words are important!)
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z (Good limit grammar.

Remember to use equal signs and limit symbols in your limit calculations. When numer-
ically evaluating the limit in the last step(s) (i.e. when you have plugged in!), do not use the limit symbol because you
have found the limit. For example,
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indicate the properties that you used as in the example above. Show one step at a timel!
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they exist. Remember good limit grammarf If the limit does not exist, explain why.
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(a) In the figure above (left), for the given choice of ¢, find a & interval about a = 1 which satisfies the limit definition.
State the § you have found below, and draw the appropriate vertical band in the graph above. Note scale!
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(b) In the function on the right, f (1) =-2. However, show that lim1 f (w);ﬁ 0.2 by finding an €.> 0 (draw the horizontal
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band) for which no corresponding & can be found. Explain why your ¢ works with a full sentence. or two.: -
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5. Suppose |f(z) — 22| < 0.001 whenever. —1 < z < 6. Find all values of § > 0 such that |f(z) — 22| < 0.001 whenever

0 < |z —2.25| < 4. (This is like a question we discussed in class on Monday!) -
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6. Evaluate the following limits, if they exist. If the limit does not exist, explain why. Remember good limit grammar!
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7. What is the value of Iim2(3:l: +5)? Use the €6 definition of a limit to prove your assertion.
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8. What is the value of lim1(5x —9)? Use the e-§ definition of a limit to prove your assertion.
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(b) Evaluate the follovvlng limits, if they exist. If the limit does not exist, explain why.
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